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o Qfwed> / BIOLOGY

(sWp wHmb Spdle @il / Tamil & English Version )

[ Qurés m_g‘;]ﬁ@us&trraash - 70

&re iaTay : 3.00 wanfl Cryw ]
[Maximum Marks : 70

Time Allowed : 3.00 Hours ]

Sifleyenrsst : (1) @S QarrésEpd FlwTs ufeurdl o GTeTHI 6T ETLISEn
slluTisgs Qamararad. oFsLLdefd Gepulmider SODS
samsrafliureriLb o Leangures 0zfaissa.

2) Beob Sid@gl SLIL @uilenar QG erapsiausnGL LwaTLBSES

Caugm@b. ULMSE a@mfasnEL, 2l q.5EC& Ty DD GL

Querdléd LWETLHSSLD.

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of

fairness, inform the Hall Supervisor immediately.
(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Gy : uGH-I (29 f-greuyeiwe), LGS -11 (2 uif-efemdwed) gl &5 el
eAerLssmefldr eflenLwelléseid, :
Note : Candidate should answer Part-I (Bio-Botany) & Part-II (Bio-Zoology) in separate

answer-books.

U@ - 1 (e-ulf-greureflwed) / PART - I (BIO-BOTANY)
(wdL@uetrser : 35) / (Marks : 35)
19fey - I / SECTION - I
@oily : () Smensg NamssErsGn el wallssa|. 8x1=8
(i) Gsr@&sOILL@drer LWTHH NeLgaller Wseyld gpHyeLwW
leLamus CsibtsHsss GO HLen e ulamaryd Gergg
GT(PSOID.

Note : (i) Answer all the questions.
(i) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1.

@ wrugnelean @m. Caumul L aulqaurkiser/eulgalld

(<=1) wrugy Ggresuw (<2},) 21D DEET
(@) wrugy uSWID () rLGE@Hwe
Alternative forms of a gene are/is called :

(@)  Genome (b) Alleles

() Genotype (d) Genetic code

sadm (&) : Qauiufoe ofsfsen Qurws G wrHDSHE S5
S HEMGEGL0. '

sngewtd (&) : Qauliufloe dsfllsgn Curps AuyseGuraLHEEnsE

B Cui 2 drer cvanl_ymen enanriiLser 2 e &&LULEOSmS.

(=) &Hm seum. sryewd &l

(=) =mpm &, srrertd geum)

(@) s=pm &fl, sryamd gD sflumer eflarésd

() eapm sTreRTd GreamhHn Seun

Assertion (A) : Increase in temperature increases the rate of mutation.

Reason (R) : Rise in temperature breaks the hydrogen bonds between the
nucleotides.

(a) (A) is not correct (R) is correct

(b) (A) is correct but (R) is not correct

(c) (A) is correct (R) is correct explanation of (A)
(d) (A) and (R) are wrong

seupren @enamreni ST ls.

(1) Ti - Qermeidl - &Crrurdeflund uBlCudweren
(<2p,) Qemmevili - Garell

(@) pBR 322 - D& LmESIUL L. Germeuus L
() 2a(HEgTHHISD - eneurav

Find the mismatch pair. :

(@) Ti-plasmid - Agrobacterium tumefaciens

(b) Plasmid - E. Coli

(c) pBR 322 * Reconstructed plasmid

(d) Transfection - Virus
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sreur Sa aariGe Hrin@sgid smanflurs LaLbSsULbS -

(1) H&Camyails oiblen (<) GarureLav GGermeny(®
(@) EDTA (FF) <SI&mT

Solidifying agent used in plant tissue culture is :

(@) Nicotinic acid (b) Cobaltous chloride

(c) EDTA (d) Agar

QRUUTRISl eremg) :

(<=1) L Gmant] (<) SHETTLEHL IS
(@) urd @l Hamext ORCGCERCL L
Orobanche is a :
(a) Saprophyte (b) Autotroph
i

(c) Partial parasite CY Total parasite
CuenTL_GSled e erer 2} HMEDIGHT AT Hlepameng| GTETLIg)
(1) Qe @u_la'sa;@ﬂu_le&w ELPGITMITLD a9

(<2, G B uwdsalluiaiar @raRTmbd a94)

(@) Geu @u.rés&eﬁ]waﬂsﬁ (PSR 69

(F) G epusSDe
The quantity of energy present
(@) Third law of Thermodynamics
.(b) Second law of Thermodynamics .

(c) First law of Thermodynamics
(d) Community productivity

in the universe is constant. Tt is stated in :

‘Lgenn LrL 8 eranp Clgmeena o (meUmdSEl e :

(<21) eflébadlwid S. &L (<) Dr. B.P. Limed

(@) N.E. Gumireomé () M.S. &eumLilprgen
The term Green Revolution was coined by : '

(a) William S. Gaud : (b) Dr. B.P. Pal

(c) N.E. Borlang (d) M.S. Swaminathan
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8.

10.

11.

12,

13.

14,

greur Ll QumsssHen Lipao LHMID 2jiqlILenL. WPen :

(o) @fpsiubsasd (<) CoipOsHEsD

(8) selleanorsd () 'g@g‘,] mrrg}gpr.'@uﬁlr’r Cu@mssn
The oldest and basic method of plant bréeding- is :

(a) Introduction X - (b) Selection

(c) Hybridization (d) Mutation Breeding

191fley - II/ SECTION - II

Spsaramibd efamméas@ner sreneuGWERID HIENElEISHE aleLwaellEsa)ib.

Answer any four questions.

syam GaBLLas srarsden psd Qe LLD eiamybg UTSD GBlése,Lb.

Draw and mark the parts of first cell of male gametophyte.

QerGenryr 64 - Hm GOl Guémuas.

Write short notes on Sonara 64.

2 L6 &(H&HEET eTenTed Greama ?

What are embryoids ?

s8CsT(HEd erempred erever ?
What is Leaching ?

soufer aifluib - el@rwméEsEe|D.

Define Heterosis.

@FCEMAUD Limdie Mwreney eiraniled QO Curg) eremen Hla(pld ?

What will happen when Rhizobium bacteria is applied to the soil ?

4x2=8
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16.

"7,
18,

19,
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S1fey - III / SECTION - III

g'&&&”@{lm cllenméasefa aGsgib epetry eilemmés@nd@ eflenwafléseyLb.
eflenm ereir 19 -8 SL_L_MLLNS aflenL Wafl&seyLb.

AI}swer any three of the following questions. Q.No. 19 is Compulsory.
Lle.voaa(r_r)‘r_ﬁ]msuuﬁleh BerL(pepll Lwerur(aer Casaid epearn er(ps)s.
Write any three practical applications of polyembryony.

3x3=9

P 2n=4x=28 X 2n=2x=14
G
(A) Celllger flevawenw er(pgis.

|

2n=3x=21

(B) sreaurgdlen QU eripgs.
P 2n=4x=28 x 2n=2x=14
G
(A) Write gametic condition.

(B) Write the name of the plant.

Qewpens eflengser ereucurm o HusSH Qalwiu@dems ?
How are artificial seeds produced ?

wrlyoQeuafifler LLETSmeT 6Tips)s.
Write the uses of silvopasture system.

SDFTTL 201’ L Smmseadl(hhgl ST LG dmnsmer CaupuBSIs.

Differentiate Autotrophic components from Heterotrophic components.

[ $wliys / Turn over
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19fley - IV / SECTION - IV
S&HTEID lamésErseE ool wallsseb. “ 2x5=10

Answer the following questions.

20. () wruamSsEnsdlan LG .‘Ifﬂ&]@L'D QeLFdswume 2 sTraTSEL 6
eleufl&&sayb.
CARMV:
(&=1,) eullir GAgmfled mvellwieilar ghg LwWeaTUTHSET 6T (LSIS.
(a) Explain Intergenic Interaction with an example.
OR

(b) List out any five applications of Biotechnology.

21. (1) aurpeugm@ Bir WS (pSEIWLD. STTERD Snmis. UDEITL GLIEE GHmeuTD)
STEUTRIGET CTEUGUTM SRISMET FHAUMLOSLIG Qaarrsﬁﬁs’mmm ? (prene
&&EUENLDLIL|GET ).

216000
(<) () 80D Briger wible wrsder sreurefuiledr Quwiflenar erpgis.
(i) <pem ApGiib wrg ?
() BT LIWLIETEHET epGTDInes T(LDGIS.

(a) Water is essential for life. State the reason. Write any four features for plants
which enable them to survive in water scarcity environment.

OR
(b) (i) Write the botanical name of State Tree of Tamil Naduy.
(i) From where it is originated ?

(i) Write its three uses.
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LGS - 11 (e_uf-eQeomifluied) / PART - II (BIO-ZOOLOGY)
(& iQueinger : 35) / (Marks : 35)
191fley - I / SECTION - I

GOy : (i) oeness NamssErsEh afamiiaflssa]b. 8x1=8

(i) QsrHssuul@darer wrHm eloLgeald Wsa|D oYL W
AemLamws Caipdshsss @Rl BLer slo wimanb Gsf5g!
GT(LPS @ LD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and
write the option code and the corresponding answer.

1.  Quarsafld srariiL@ib avsaen sl GspE eUUNETS) :
(=) paorsefer LOCUMLNSTa® Syl
(<)) Sparaailen Qaeriuf syind
(@) spa@rsafien LGrmevGLL &rid
() @D peripener sFUA
The Skene’s glands of female are homologous to :
(a) Bulbourethral glands of the male
(b) Cowper’s gland of male
(c) Prostate gland of male

(d) Glans penis of male

2. e Gprmern @evanayl) LTssHer Gaume :
(=) apgisamer GeuaflsseT@nrsed
(<=,) evQunBGurtgefflen Clewied
(@) Qenadhiern 2 pLSHow gram@se
() FSH Qeuefleumeuansd senl_ Qalige
| The function of androgen binding protein is :
. (a) FEjaculation of sperms
(b) Process of a spermiogenesis
(c) Stimulates the synthesis of inhibin
(d) Inhibiting the release of FSH

[ SlBLiys / Turn over
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3.

g'apﬁu@&lﬁﬂfiuﬁ)gjﬁ anriGorer smésmL wrfmrseien Qawdadr UpHlw

SEUDTET Fadm) TG ?

(<1) lbg Aedarsssms smL Calge

(=) Si@mCed NPupsme so Aelisd

(8) s@lienu Gurru_l @5{1’6@@@@ genenlo WIHNGSTEL lBgI6lad B

Lmens wpmid ellbg ClFd Fsieuams LiveianiLBSsEamng)

() smlenu 2 Carenpliul wgdld gpu@b wrpb smliudedine erélyrer
GLpme THuhSg EleTmg.

Select the incorrect action of hormonal contraceptive pills from the following :

(@) Inhibition of spermiogenesis

(b) Inhibition of ovulation

(c) Changes in cervical mucus impairing its ability to allow passage and transport of

sperms
(d) Alteration in uterine endometrium to make it unsuitable for implantation

A
GG 2_6tar LLaMSSIHEdD A, B opoid C pdlwieihanm SETLMHS.
(<) A - Ly QuEESD, B - Qunfduwissd, C - @rigliLmLsd
(=) A - QomflCuwigsa, B - Lie QuBssa, C- @riiglienL s
(8) A - @rigluemLge, B - QurPQuwigse, C - Lgbubsse
() A - @riliglienL ga, B - L QuESs®, C - ComAbuursse

Gene —B——>mRNA ——E-—>Enzyme

A
Find out A, B and C in the above pictorial representation.

(@) A - Transcription, B - Translation, C - Replication
(b) A - Translation, B - Transcription, C - Replication
(c) A - Replication, B - Translation, C - Transcription
(d  A- Replication, B - Transcription, C - Translation
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asropoOw &&@ Cefiurafle 2 Husd CelLtIL@D euTESET :
(=) BsCaar, <&8lmer wpmib evanl rer FeLi(®

(=) ewanl roen gveu®), BsGsan wHmb FoUT el Hsn&FH
(&) amlygen sdeu(, smlr_r;l_rrgsm LOHMILD LSg,(Sg,em

(F) B&CHer, epamL_rage &GUGU)LJ@ LDHMILD SHTTLIGHT am_ %85@&@
The gases produced in anaerobic sludge digesters are : L

(a) Methane, oxygen and hydrogen sulphide

() Hydrogen sulphide, methane and sulphur dioxide |

(c) Hydrogen sulphide, nitrogen and methane
(d) -Methane, hydrogen sulphide and carbon dioxide

Qaibom @y Beafla, iy Gawser LLEHED wpemwidner Qarar_mal erafla,
aréiisre samaupampsaie erg) elenemeuTs e ?

(=) erdisTe goapon HekiEGse DO OSSO LIS IAIGEICIE

(2p) THTETL MO D aﬁleoraJ@a;aT Cprigsré@sed SioLWUNs
efekiGseTss srewtliLGID. |

(@) e edanigsmer e HUSS Clewiw @u.l_éur_r@.

(/) eTrdligme senaipenm 6l G @mm@g surr%p;r;rn_essrr Q& TesTLeneuws
QoEELD. el R

'If the udder cells of sheep are the only to'tipotent' cells means, what will be the
consequence of future generations ?

(a) Future generations may be sterile animals
(b) Future generation animals may be disease free
(c) Males can not be produced -

(d) Future generation animals will be short lived

[ SipLinys / Turn over
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7.

10.

11.

10

flo efeotigsedr CoraLssromsailsd Qswue
2_STFewTid ?

(1) 2L Sy srips ssauemibliser
() BLEDS &TTHS SEeuamDLIL ST

() 2L pQswelud srips SSEUGLOLIL|&ET
(FF) eereflwe srihs saaamLLILEET

Some animals become inactive during summer. It is an éxample for :
(a) Structural adaptation

(b) Behavioural adaptation
(c) Physiological adaptation
(d) Psychological adaptation

fndlemsersde G GUTLg sTyewons gpubelsl :

(<=1) 2owiflar wermaey (<=,) Sle™ OTHOD

(@) CarBsrey eUTLDEMS () sLQuifl eumpsens
Competition between species leads to :

(a) Extinction ' - (b) Mutation

(c) Amensalism (d) Symbiosis

\9fey - 11/ SECTION - II
aCseb mresiE eHlaméEHEHes aflenwafldsayid.

Answer any four of the following questions.

mlsaﬂg,zéﬁlg@ Gseredle éummuémuu LILLD euenrbgl LTSHEMETs GDESaLD.

Draw and label the parts of human sperm cell.

L QuBSSeD Graifrgprrsﬁ Gremeut ?

Define - Transcription.

TEE o mLIL|EeT TaTLIS! e ? (b e (HSSISETDH SHS.

What are vestigial organs ? Give an example.

ﬂ')glj 85IT66'OTL'_IL1®G}J§]. @gﬂ Grrg,!bg;rrgm

4x2=8
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14,
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® Qumrmer 2 pusduller Lwearsmd K e ulfsefer

Name SOome mji ;
tucrobes used in the production of household food products.

@fL& serenin — QUM ESaLD.
Define -~ Endemism,

@ - . o . .
Eﬁﬁﬁgﬁbgﬁm e ugdselle sramsdr Gonbg, Uprésaier o amamflsms

2flafédpg). Glg ereieuens aumfl @l ? s eUnLNESa|LD.

In many parts of Chennai, number of dove increases rather than crow. What type of

habitat loss it is ? Define.

S1fley - 111/ SECTION - III

QUL N&E SMIENLD GTEAIMMEL GTeva ?

What is meant by Surrogacy ?

eomomi&& e
Write the Lamark’s theo

m G
rEvL.. Sryewid safis.
Yeastis more suitable for pr

@O ‘
L &8 T 61 & EnalT ULl igwell(B&.

gCseb epenmy claTésEraE oo wallEsayb. ojedDle oSl 6T ewr
19 -5 sLLmuNS edenLWeflEsa]Lb.
. Answer any three of the following questions. Q.No. 19 is Compulsory.

3x3=9

15, @Lib wmblu STULID eTerLgl crenen ? @gen edlenereilenan GT(LPSIS.

What is Ectopic Pregnancy ? Write its consequence.

“QUpLILL L. LIGRTLEET oL sLgO Carur®”updl er(pgis.
ry of Inheritance of acquired characters.

iens @G iissALITTET o HLUESHES or.Cameraerw el Slpphs 2 ulfend

oduction of recombinant interferons than E. Coli. Give reasons.

ol LGS ABAILBSHISOND srarlUHD AGGSTra@f G wHob

List out intrinsic factors and extrinsic factors in population regulation.

[ SBULS / Turn over
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9fley - IV / SECTION - IV

Ssaramid cNamss@Enss ellen_wessal. 2x5=10

Answer the following questions.

20. (SI) LMD DSOS eranpred eranar ? H5& THSHESTLHLET WS
Bersder srasiLBD LD ( S sarf e Lrybufw Leren L
cefleumlGmHeLb.

NNV
(<=1) Hie wIOOD LHHIW B IESET APAOLD wrLgnelHEGLD, lg.ere.er-ednE

o ¢rer QsmLiry Bem@ Uiflbs Qsrereriul g (&S DgE. @ &Esmbdlarar

Huruiu®hses. |

What are Multiple Alleles ? Describe their inheritance in Human with example.

| OR

The relationship between genes and DNA are best understood by mutation studies.

(@)

(b) ’

' Justify this statement.

(<=1) Crmu s L_GaamsreaniiySSne HpbuL GnsEn Gurs UHmGHTL
Gz remprsgl. B&sanen _ﬁu_irru_luu(gg@a;. :

NIV

(<) BT Bir SSRGS wreudsHs QaTamy®HSHEpmD. S|EuaIT)
wrgemLeuflamme 2 uiflemieet 8% THUBD cllevaTaysar Lreal ?

() If immunological surveillance is effective, cancer should not occur. Justify.

OR .
s. What will be the consequences of water

21.

(b) We are polluting water resource
pollution on organisms ?

.-000-



